MODEL TEST PAPER-2
CLASS-VIII (2024-25)

MATHEMATICS
Time allowed : 3 hours Maximum Marks : 80 .

General Instructions: o

1. The question paper consists of five sections :
e Section I : Question No. 1 to 20 are of 1 mark each (18 are MCQ Type
and 2 are Assertion-Reasoning type questions).
» Section II : Question No. 21 to 25 are Short Answer Type-1 questions

of 2 marks each.

o Section III : Question No. 26 to 31 are Short Answer Type-2 questions

of 3 marks each.

e Section IV : Question No. 32 to 35 are Long Answer Type questions of

5 marks each.

» Section V : Question No. 36 to 38 are of Case Based questions. Each
case study has 3 case based sub parts, two are of 1 mark each and third

sub part is a short answer type (2 marks) having internal choice.
2. Please write the serial number of the question before attempting it.

3. In questions of constructions/graph, the drawing should be neat, clean

and exactly as per given measurements. Use ruler and compass only

4. All questions are compulsory. However, internal choices have been given in 3

some questions.
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L e R e e )

Section-A (@&-1)

3
The value of Jm is

3 3
Joog M oe-

1 ®)
(e) 1 (d) 10

The value of %/53+ §f211+3ﬁf125 is :

358 + Y211+ Y125 7 7 ¢

(a) 4 (b) 16
(c) 64 (d) 8

The value of 16”2 + (256)% is

16”2 + (256)* &1 WA -

(a) 250 (b) 256
(c) 16 (d) 4

Which of the following varies directly ?

(a) Distance travelled and the taxi fare.

(b) Number of men and time taken to finish the job.

(¢) Speed of the car and time taken to cover a particular distance.
(d) Number of pipes used to fill a tank and time taken to fill it.
frafafas & € # @1 @ fas s 2o

(a) T # T W A =R w1 fran | R
(b)sqﬁaﬁﬁmﬁtmmmﬁmw@m f
fc}mﬁwﬁraﬁiﬁﬁﬁaﬁ;&aﬂmﬁmmf *

{d)ﬁ%aﬁqﬁﬂ?mwwaﬁmmﬁmﬁw%l




Avi bought a tape recorder for ¥ 8000 and sold it to Bobby. Bobby

in turn sold it to Charu, each earning a profit of 20%. Which of the
following is true ?

(a) Avi and Bobby earn the same profit.

(b) Avi earns more profit' than Bobby.

(¢) Avi earns less profit than Bobby.

(d) Cannot be decided.

sfa 7 8000 T ¥ F ¥ faid wiw sl wt w99 fem S A
7o § W@ 9% 99 R, 3 20% F1 @w FuEn Fefates § 9
FH W §F -

(a) @fa 3R o B wHE @ fow@ 2

(b) #fa 3 afdt 9 arfesk @ FAE

(c) &ifg & @l ¥ HH @ HAAN

(d) 7@ =& fHar -1 Sl

3 . ; ;
If the selling price of a shirt is 2 times of its cost price, then the

profit percent is :

3
W wF Fi w fa g I w9 T WS T R, @ @ e
.o

1
(a) 201% (b) 251%
2
(c) 33%% (d) 50%
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7.

Snehil w

ants to do a oné year deposit. For getting maximuy, .
she should opt for- -

(a) a simple interest of 10%.

(b) a cnmpound iﬂtﬁl‘ﬂﬂt of 10% compﬂunded annuauy.

(¢) a compound interest of 10% compounded half yearly,

(d) a compound interest of 10% compounded quarterly,

ﬁ@aﬁaﬁ%ﬁfqﬁ:ﬁﬁzmaﬁ'cﬁﬁl sfman et T § gy

(d}lﬁ%mﬁq%mmmmﬁaﬁha’aﬁm%l

Factorised form of % + 4y + 92° — 4xy + 12yz —62% is
22 + 4% + 92% — dxy + 12yz — 62x ‘cFT HEs F9 2
(a) (—x-—2y+32) (b) (—x + 2y +32)°

(c) (x—2y+32)° (d) (x +2y—32)*

If xy*k = (4xy + 3y)* - (4xy — 3y), then value of k 18
A ay’k = (dxy + 3P — (4xy—3y)? &, @ kT A &
(a) 14 (b) 48

(e) -14 d) —48
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0. In the given figure, AB |l CD and 7 is a transversal. EG is the
pisector of ZAEF, then the value of x is

& m eFfa ¥, AB I CD 3l | & firdw %1 EG w1 zAEmerFsm
% @ x & HA %—

-

Bn..

D‘:
(a) 20° (b) 30°
(c) 10° (d) 50°

1. In the given figure, AB Il CD. The value of x + y is
@ m ampfs §, AB Il CD. x +y F1 AW &

A 2

€ E D
(@) 180° by B
(o) 140° (d) 80°
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12. In the given figure, ABCD is a parallelogram. The va]y, of ,
& w sgf 4, ABCD TF W TS B xF A

4(x +5)cem c
D
60 am 60 em
A (5x + 5) cm ' B
(a) 10 (b) 15
(c) 5 (d) 20

13. The abscissa of a point is its distance from the

(a) Origin (b) x-axis

(¢) y-axis (d) Point (x, y)
T fag # o0 I Hw ¥ o i

(a) 9@ fag (b) x-H¥

(c) y-3g (d) ’|‘a:gL -3

14. The g‘l‘aph Df}! =ais
(a) the x-axig
(b) the Y-axis

(c) a line paralje] to the y-axig

(d) a line Parallel to the xX-axis
Y=a 9 Hwg -
(a) x-3781

(b) x-378
(©) y-518 & moy Y

d) x5 & wmim W@



5. 1f the gapac.ity of a cylindrical tank is 1848 cm” and the diameter
of its base is 14 m, the depth of the tank is

o TF JEER IF F gwa 1848 w9 et # s ggd wum F AW
14%?%%3&"@1@%—

* (a) 8m (b) 12 m
(¢) 16 m (d) 18 m

6. Five equal cubes, each of edge 5 cm, are placed adjacent to each
other. The volume of the cuboid so formed is

dg a1, T W yEE F 9 5 9. 8, UF g % e W@ g
# @ THR 9 Y9 H ATdH B

(a) 125 cm® (b) 375 cm®
(¢) 525 cm® (d) 625 cm?®

17. If a card is drawn from a well-shuffled deck of 52 cards, then the
| probability of getting a red face card is :

v & et q B2 T 52 UE W @ UF o qei aran gan fer
1 wifawar B :
1 3
3 1
fc}—zg (d}gé'
;

18. If the class mark of a class interval is 12.5 and the class size is 8,
then the uppr limit of the class interval is :

A Faedt 3 siqwe &1 A foed 1258 SR o W 8 ® @ IW i siawe
F Iew & d@w g

(a) 20.5 (b) 16.5

(c) 15 (d) 85
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Direction : In question numb
(A) is followed by a stateme

ers 19 and 20, a statement of A4

nt of Reason (R). Choose the Eun.iuh
Cot

option out of the following :

(a)

(b)

(c)
(d)

wvs §@Er 19 I 2

Both Assertion (A) and Reason (R) are true and Reason (R) s g,

correct explanation of Assertion (A).
Both Assertion (A) and Reason (R) are true but Reason (R) i, -
the correct explanation of Assertion (A).

Assertion (A) is true but Reason (R) 18 false.

Assertion (A) is false but Reason (R) is true.

o % forg @ wa Rw MY ¥-TH w A

aﬂrgﬁﬁm(mmnﬂT%lﬁﬁNWzﬁf@! (@), (), (¢
aﬁt(d]ﬁﬁuﬁ#qﬂmwmaﬂﬁq:

(a)

(b)

{¢)

(d)

19.

cfames RO A g € o www e w W S w1
sfaren s w0 2H G § e ero SR F W e W
w2

sfaFed g9 & ofFT TR0 E €

sfawem @™ € dfFT FRO TA 8

27 1
Asserti g B o =
b \E 2

Reason (R) : a” + a" = a™™", where a be any non zero rﬂtiunal
number and m and n be integers.

sfaswags (A) : gid 1

216 2

HU (R) : F1E tﬁwqﬁﬁqﬁ'@laﬂ?mam+a"=am’"aﬂm

AR m goiE #

260




" Assertion (A) : If 24 men can dig a trench in 7 days, it takes 12
days by 10 men to dig a similar trench.

Reason (R) : When two quantities x and y are in inverse proportion
then x X y 18 a constant.

AHIT (A) : TR 24 T T Te@ 7w F @k wwd €, @ 10
s TR ® oW ¥ 12 fm oA

W(R}:Wﬁﬂﬁﬁxaﬁ?ywmﬂﬁﬁxxyﬁﬁﬂ#ﬂ?
£l

Section-II (@E-II)
1. If Jx-12=9, find the value of .

M Yx-12-9 ¢, @ xF TH @ FA

OR ( 379ar)

; 17
Find 3} = i
ind the value of 93 o7

17

33‘ﬁﬂﬂ'ﬂﬁil‘lﬁﬂﬁﬁﬂ"{l

1
2. Meena sells a pen for ¥ 54 and loses 7o of the cost price. Find the

Cost price of the pen.

UM 3w 4 b4 TUd § a1 3N I WA YA H WG UM % qU @y
Tl W 7 qeg @ B
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1
-.—nl ——
23. If a'z 5 az =18: ﬁnd t'.h,E YH.]UE ﬂf a = .

1
vqfq a2-|-_£2—=18 %a} ﬂ,—*-{; T:ETTlT:laTﬂ ﬁﬁnﬁ
L

OR (319aT)
Evaluate (10.1)* using a suitable identity.

Hﬁﬂaa‘srﬁmmuﬂﬂmuo.uzmmmﬂﬁml

94. In the given figure I I m |l n and p is a transversal. If Z1=131
" find a:b.

ﬁﬁﬂ@ﬁﬁi-llmllnﬁ?pﬁﬁﬁﬁ%ﬁﬁ /1=130° %, @ a:b

FM HiTaQ|
p
1

25. The pie chart depicts the information of the employees of 2 mmpaﬂ*’

oW
watching different types of channels on television. If the N i
channel is viewed by 75 employees, find

the total numb®
employees of the company,
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ﬁ;ﬁﬁﬁ%ﬁmﬁﬁmm%ﬁﬁ?ﬁﬁﬂﬂﬁfﬁ
@R & 994 @ ¥ AR guEr A 75 et go e w2, A
st & FEATA B FA WS F@ A0

TR
Entertainment
50%

Informative

25%
LE
Sports

Section-III (@s-1II)

%. If 91 4 o1 — 3920, then find the value of x.
Az or-1 , ox+l _ 390 ®, @ x F HHA M o]

OR ( 31¥ar)

_1 1
34 216 3 x 252
8 w2l xXeo
Evaluate : 1 X .
1253 x 164 x 3
1 1
34 x 216 2 x 252
3" x216 *77

1
9 d| wifee i =2
195 x 164 x 37
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27.

28.

29.

A hostel had food provision for 60 days for 500 students, Aftep 1
days, 300 more students joined the hostel. How long will the remﬂilling

food last?

T BEEE § 500 Bl % fow 60 fXA WS WM oy g p
#m.aouaﬁrmmﬁwﬁaaﬁwﬁﬁﬂﬁmﬁmm
= ?

OR ( 3rerar)

A train 270 m long is running at 80 km/hr. It crosses a tunne] i,
18 seconds. Find the length of the tunnel.

270 Hiex ot TF ot 80 fFEH s v M MM A R @ b
TH F 18 FH0E F YR FE B YHT HI TEE T B

Using factor method, divide the polynomial ¥ — 2y — 35 by (v - 7).
TEe fafy @1 yaim #es, sge y? -2y - 35 W y — 7 ® 9 FiY

A bank gives 10% Simple Interest (S.I.) on deposits by senior
citizens.

Deposit (in ¥) 100 250 300 500

Annual S.I. (in 3) 10 25 30 50

Using the data given above, draw a line graph illustrating the
relation between the sum deposited and simple interest earned:

m%aﬁswmmqﬁﬁwmm%mmmﬂil

o ufe (z9E d) 100 250 300 | 500

I TuRT &= (F9F H) 10 o5 30 50

Wﬁ?ﬁﬁ'ﬁﬁﬂﬁﬁmﬁmﬁmmml
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Mtg]‘ﬂate Question for Visually Challenged students in lieu of
Q' Nﬂ. 29

wmze%mwmmﬁﬁm&mml

- 99, The age of Ravi and Hema are in the ratio 5:7. Four years later,
their ages will be in the ratio 3:4. Find their present ages.

f1 3K BN H FY W FOW 5:7 }) IR T ARG, IR AY F AT
3.4 T ITHI FAEE G F@ HifAC ‘

30. The area of a trapezium is 405 cm® Its parallel sides are in the ratio
45 and distance between them is 18 cm. Find the length of each
of the parallel sides.

o e W GAFE 405 a1 WA 81 TE WA qnel 1 9 4:5
dr o @ gd 18 F 3| guiR enell W TR W@ HiC

31. The heights (in cm) of 99 students were recorded as under :
125, 132, 138, 144, 142, 136, 134, 125, 135, 130, 126, 132, 135,
142, 143, 128, 126, 136, 135, 130, 130, 133

Prepare a frequency distribution table of equal class size using class
interval 125-130, 130-135 etc.

29 wril S (3, A) PR o W T
125, 132, 138, 144, 142, 136, 134, 195, 135, 130, 126, 132, 135,

142, 143, 128, 126, 136, 135, 130, 130, 133
Ty g W & - 125-130, 130-135 30fE 1 T wEE TH

Eire o ke i CE LR
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Section-IV (@8-1V)

32. The cost of levelling a square lawn at % 15 per square metre is
T 10935. Find the cost of fencing the square lawn at T 25 per metre. ,
15 ¥ 9fq & e & | § UH SwR eq H gHad T H dE
10935 ¥73 21 25 ¥ Wiy drer # G § AMHR A W AG A F oA

SIGEEAIE ]
OR ( a19ar)

The students of class VIII A of a school donated some amount to
the Prime Minister’s National Relief Fund. Each student donated as
many rupees as the number of students in the class. The class
teacher donated the same amount as much as donated by the whole
class. If the total money donated is ¥ 6272, find the nuﬁlber of

students in the class and money donated by the class teacher.
wF faaeEm & F& VIIIA S 86 3 umEsEl U89 Tsd & ° $59 U
= F| YOF BF FE % DEl B GEA & GUsR U T HE 2R
FeATE A G wA g T H W W H AR W feam Ak g e W
Fa AW 6272 ¥ ¥, W FA F THN F WEN AR FH FATF U TH
#t M ufer 7@ S

33. Divide [3x (5% + 3x° + 2) — (2x® + 8 — x)] by (-2 + 3x) and check
your answer.
ERAK [3x(5x2+3x3+2i-(2x2+8—xﬂ F (-2 + 3x) ¥ Wm ﬁ'ﬂﬁﬁl’
s aT9H IW HI WA Fife :
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34, Construct a quadrilateral PQRS in which PQ = 5 cm, QR = 4 cm,

/P = T5° Z£Q = 105° and /R = 75°. What type of quadrilateral is
it ?

@ ¥999 PQRS #1 w7 =ifwd, fmd PQ = 5 @i, QR = 4 ¥4,
/P = 75°, ZQ = 105° 3R /R = 75° %1 7% fFm woR w1 wgds @7

Alternate Question for Visually Challenged students in lieu of
Q. No. 34

W WET 34 ¥ WM W gheartus ol fag dwieew v

34 The difference between simple interest and compound interest

3.

{cu}npﬂunded annually) on a sum of money for 2 years at 10% per
annum is T 65. Find the sum.

%ﬁmqﬁﬂﬁmlo%ﬁmﬁmﬂﬂaﬁﬁmﬁnw
mﬁf%mw%,aﬁmaﬁﬁmﬁmm%wﬁaﬁaﬁma

A wall 15 m long, 30 cm wide and 4 m high is;:hmade of bricks, each
1
measuring 18 em x 12.5 cm x 7.5 cm. If (_1.6] of the total volume

of the wall consists of mortar, how many bricks are there in the

é’?ﬁ’rmm@ﬂxm.aﬂﬁtx7.5@ﬁ.%|uﬁa‘hﬁé?wm

m%m@ﬂzﬁ.aﬁmﬂmﬂﬁﬁ
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36.

The external dimensions of a closed wooden box are 48 cm X 36 cm

x 30 cm. The box is made up of 1.5 cm thick wood. How many bricks
of size 6 cm x 3 cm x 0.75 cm can be put in this box?

TH W wwel & fem F1 awd Fawd 48 ¥ x 36 . x 30 . gl
fesan 1.5 Tt W Tt @ = 21 3@ fe= 4 6 9. x 3 AL x 0.75 9.
F AHR H freft € wh W wEd 77

Section-V (@8-V)

(Case. Study)

Rabbit farming provides an additional source of income in the rural
areas. Rabbits are used to get fine quality of wool, fur etc.

In a particular farm, the population growth rate of rabbits was
found to be 60% per year. The current population of rabbits in the
year 2020 is 5120.

Based on the above information, answer the following questions :
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(1) What would be the rate of growth, if population is estimated
semi-annually ? (1)

(2) What was the population size two years ago ?
OR

Find the population after 2 years. (Round off the answer in
whole number), (2)

(3) If suddenly 120 rabbits die in the year 2020 then find the

number of rabbits increased in next one year. (1)
T & W GO UeH A H UF A S W i 21 @i
F I FA, B AR F A Ew @ FA@ & g G owmr f)

w favy v A, @onl %1 s 9en gfg w ufd 99 60% ¥ ) I§ 2020
§ ol # ada SAEen 5120 81

T SEF & ouR ) Frefafes v o 3w Sifwe—

(l)ﬁﬁ?@mwﬁmm@mm,ﬁq&ﬁnw

B2 .(1)
(2) q 94 ygd wEAEEAT w1 SHR T 9T
Y EL
A a8 e SEEE % A M| (3W H QO gen ¥ quiten #$1) (2)
(3) afz = 2020 F FrTF 120 WM W AW €, W AR wF A § @i
# gen § gfg F@ & (1)
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The Nauchandi Mela is an annual fair held at Nauchandi ground in
Meerut. The fair stretches for about a month and witnesses more
than 50,000 visitors every year.

Arun and Neena went to their grandmother place specially to visit
this mela. Each day both need to purchase the entry ticket of T 20
each. Their expenditure on rides on the three days is given in the
table below.

Number of Rides Neena Arun
Day 1 4 5
Day 2 6 6
Day 3 5 5

Based on the above information, answer the following questions :
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jt =

1. Taking cost of Neena’s ride to be as ¥ x per side, find the

mathematical expression representing Neena’s expenditure on
Day 1. (1)

If the ratio of Neena’s expenditure on day 1 to that of day 2,
is 11:16, find the cost of Neena's ride.

OR
g . O
The cost of Arun’s ride is 2 times Neena’s ride. Together they
spent ¥ 615 on day 1. Find the cost of Arun’s ride. (2)

Find the total expenditure of Neena and Arun on the rides on
day 3, if all ride cost ¥ 50 on that day. (1)

¥

ﬁiﬁﬂﬁ?ﬁwﬂaﬁiﬁﬁmﬂaﬂiﬁmﬁﬁmwaﬁmﬂw%lﬁ
ﬁmwwqﬂﬁﬁw%aﬂtmwm,onﬂﬁaﬁmmﬁmﬁ
amﬂ%maﬂtﬁmﬁmmﬂwﬂﬁﬁ%@ﬁﬂ:fmmﬁﬁ
T M g

mﬁ?ﬁﬁzu-zuwmmﬁmaﬂwﬁmmﬁﬁﬁm

wﬁmaﬁﬁeﬁﬂéﬁrﬁmﬂﬁmw%

T w e A R
Tea fe 4 9
w0 fa 6 6
e fe 5 :




38.

(2) % o e A &5 wd W R R F T I 1y
1 F wEd F @@ §@ B

( 3rgar)

mﬁwﬂﬂmﬁﬁmm—ﬂ%lﬁﬁﬁ%
wd fer 615 T @ FRUl I W F AT I 3y

(3) drt fem e Sk eww W WA W FA @ I@ R, AR g,
g walt W @@= 50 T o1

Nidhi designed a necklace made of pearls and metal pieces, trapezoid
in shape. One such piece is shown below.

a\
-

%
-

b

Nidhi wants to join two pieces together to form an earing as ghow?
below.

a

piece 1 piece 2

_ - )
(i) Justify that the shape obtained ig g parallelogram. 0
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"H; g

i) Establish a relationship among a, b and ¢

if she wants to form
a rhombus shaped earning,

(1)

(iii) In the given figure, if 21 = 40° and £3 = 2./2, then, find the
measure of £4,

a

OR
Ifa:b=2:3,c =10 mm and perimeter of the trapezium is 40
mm, find the values of a and b. (2)

H 3 i o wg & TS ¥ T AR W feued W, A e
mm%lmﬁWWﬁWW%'

S
&

b
g &

b
fe& =t @
ﬁraﬁgﬁﬁaﬁwwwﬁﬂmm%w

b
™ | 2
:ﬁ\m




ﬁwﬁfﬁﬂ@%‘

mmﬂﬁquﬁ
aﬁ,ﬂmﬂlﬂﬁ%
?ﬁa,baﬁ"{c-&;%

(uﬁﬁﬂﬁmmﬁ
day T H

(3) @ w s, AR
HitaQl

£1=40c 31'\'( 1:_’3:242, Tﬁ £4ﬂ'ﬂtﬂq
Bl

(3reET)

I 40 r



